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QUESTION 1

An engineer needs to configure network devices in an automated way. Which two ways are used to create structured
data using YANG to provide REST-like APIs to enable programmability access? (Choose two.) 

A. YAML 

B. JSON 

C. GPB 

D. JSON-RPC 

E. XML 

Correct Answer: BE 

Reference: https://www.cisco.com/c/en/us/td/docs/ios-
xml/ios/prog/configuration/166/b_166_programmability_cg/restconf_prog_int.pdf 

 

QUESTION 2

Refer to the exhibit. Using the provided XML snippet, which Xpath expression prints "Jane"? 

A. //employee[1]/firstName/value() 
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B. //employee[0]/firstName/value() 

C. //employee[1]/firstName/text() 

D. //employee[0]/firstName/text() 

Correct Answer: D 

 

QUESTION 3

An engineer is deploying a Python script to manage network devices through SSH. Which library based on Paramiko is
used? 

A. sshmiko 

B. paramiko.agent 

C. libssh2 

D. netmiko 

Correct Answer: D 

Reference: https://pynet.twb-tech.com/blog/automation/netmiko.html 

 

QUESTION 4

Refer to the exhibit. What are the two outcomes when the RESTCONF POST code is implemented? (Choose two.) 

A. A new VPN endpoint to a VPN is added. 

B. An L3VPN endpoint to a VPN is replaced. 

C. An L3VPN endpoint to a VPN is merged. 

D. A new L3VPN endpoint to a VPN is added. 

E. An L3VPN endpoint to a VPN is updated. 

Correct Answer: DE 

 

QUESTION 5
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Refer to the exhibit. Which two URI entries are optional and functional in this RESTCONF URI structure? (Choose two.) 

A. fragment 

B. query 

C. operation 

D. api-entry 

E. path 

Correct Answer: BE 

Reference: https://www.ciscolive.com/c/dam/r/ciscolive/apjc/docs/2016/pdf/DEVNET-1081.pdf page 25 
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